- @
Ey Hochovoice™  SERVICE
p | B e o DATA

FAX: 616—695—4743

ELIMINATOR

(1151—-3184)

ELIMINATOR—E

(1151-3185)







n

A

Ji A s

(ELIMINATOR
VERSION)

|

PIN 14Dt

PIN 1)

PN 24—
PIN 2—)——t

(ELIMINATOR—E
VERSION)

i S




QUANTITIES SHOWN ARE FOR ONE COMPLETE UNIT

PARTS LIST

ITEM PART NO. Qry. DESCRIPTION
1 49155 1 | NAMEPLATE, ELIMINATOR
2 74039 1 [ GRILE
3 63075 CP 14 | SCREW, #8-15 x 3/4 IN. LG., OVL HD, XREC, TYPE A, BLK ZING
4 63179 CP 4 | SCREW, 1/4-20 x 1 1/2 IN. LG., SKT HD, CAP
5 | 815-3182 1 | LOUDSPEAKER, 15°
6 63272 CP 1 | SCREW, #8—15 x 1 1/2 IN. LG., OVL HD, XREC, WOOD
7 | 38768 11 | WASHER, #8 C'SUNK, BLK. NYLON
8 20543 1 | SPACER, STAND—OFF
9 62978 CP 11 | SCREW, #10-16 x 1 IN. LG., OVAL HD., XREC., STL, BLK. ZINC
10 | 73155 1 | HORN, HP64M, INJ MOLED, 60 x 40
11 | 20548 A 1 | FLANGE, DRIVER MOUNTING
12 [ 38701 1 | GASKET, 1.3 x .94 x 1/16 THK.
13 63282 CP 2 | SCREW, #10—-16 x 2 IN. LG., PAN HD., PHLPS, HI-LO
14 | 833-0890 1 | DRIVER
15 | 74042 2 | GUARD, CORNER, FRONT, LEFT TOP, BOTTOM RIGHT
16 | 74043 2 | GUARD, CORNER, FRONT, RIGHT TOP, BOTTOM LEFT
17 | 85223 1 | ENCLOSURE S/A
18 63054 CP 32 | SCREW, #8-15 x 5/8 LG., PAN HD., XREC., BLK ZINC
19 | 74044 4 | GUARD, CORNER, REAR
20 | 85235 1 | CROSSOVER S/A, ELIMINATOR (INCLUDES ITEM 21)
21 85235—J1 2 | PHONE JACK, 1/4" ENCLOSED
22 | 85252 1 | CROSSOVER S/A, ELIMINATOR—E (INCLUDES [TEM 23)
23 17305 2 | CONNECTOR, NEUTRIK NL4MP-R
24 | 74040 2 | INSERT, HAND HOLE
25 | 28261 4 | FOOT, RUBBER
26 | 63035 cP 4 | SCREW, #10-16 x 1 IN. LG., PAN HD. XREC., STL, BLK. ZINC
27 | 73922 2 | HANDLE BOX, INJ MOLED
28 | 63116 CP 8 | SCREW, #8—15 x 1~ LG, TRUSS HD, XREC., WOOD
29 | 73326 1 | MOUNT, STAND, PENN FAB # M1551, BLK
30 | 63340 CP 4 | SCREW, #1024 x 1 IN. LG., OVL HD., XREC, STL, BLK. ZINC

CROSSOVER [TEM NO.'S

C1 | 85235/85252—C1 1 | CAPACITOR, 1.2 uF, 150 VOLT, 4.0 AMP, POLYESTER

L1 | 85235/85252-L1 1 | INDUCTOR, 0.48 mH, DCR 0.6 OHMS, IRON CORE 16 GA.
12 | 85235/85252-12 1 | INDUCTOR, 0.4 mH, DCR 1.3 OHMS, AIR CORE

R1 | 85235/85252-R1 1 | RESISTOR, 10 Ohm, 20 WATT

S1 56232 1 | POLYSWITCH, RAYCHEM RXE 075

® TELEX/EV1 Audio, 1999 Litho in U.S.A. = Part Number 535292-A 9901




